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QUESTION 1

The Cost Accountant has reported to the Production Supervisor that the Work Order transactions are not 

getting transferred to Costing. 

Identify the reason for work order transactions not getting transferred to Costing. 

A. The Manage Item Rules setup is not complete. 

B. The Costing Interfaced Attribute is enabled in the resource definition. 

C. The item was made inactive after the Work Order transaction. 

D. The Costing Interfaced Attribute is not enabled in the resource definition. 

Correct Answer: D 

 

QUESTION 2

As part of an implementation project, you have to perform setups related to a Manufacturing plant in Functional Setup
Manager. 

What must be set up first in order for you to configure the setup task called Manage Plant Parameters? 

A. The Supply Chain Orchestration Functional Area 

B. The Manufacturing Master Data Functional Area 

C. The Manage Items Profile Options tasks 

D. The Manage product and Child Value Sets task 

Correct Answer: B 

 

QUESTION 3

A Production operator in your company is required to report production activities, such as completing or 

scrapping production units, by referencing a work definition without creating work orders. 

Identify the manufacturing transaction that a production operator can perform for reporting such activities. 

A. Orderless Transactions 

B. Operation Transactions 

C. Resource Transactions 

D. Movement request 
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E. Material Transactions 

Correct Answer: A 

 

QUESTION 4

The Manufacturing Engineer, responsible for creating and maintaining the Work Definitions, has scheduled the Process
Item Structure Changes to Work Definitions program. However, after the execution of the program the engineer did not
receive a notification with the details of the Item Structure changes. Which two reasons could cause this? 

A. The engineer does not have Data access to Items Attributes. 

B. The engineer does not have Data access to Items. 

C. The engineer does not have Data access to Manufacturing plant in which the Item Structure change was performed. 

D. The engineer does not have Data access to Item Structures. 

E. The engineer does not have the Manage Work Definitions function privilege. 

Correct Answer: CE 

 

QUESTION 5

Identify three types of Item Quantities displayed in the Work Order History tab. 

A. Scrapped Quantity 

B. In Process Quantity 

C. Remaining Quantity 

D. Total Quantity 

E. Completed Quantity 

Correct Answer: ACE 

 

 

QUESTION 6

The Manufacturing plant has two 8-hour shifts for the work center WC1: Day Shift and Night Shift. You associate four
units each for resources R1, R2, R3, and R4 to the work center WC1. The customer wants to assign all units of
resource R2 available for Day and Night Shift. Identify the correct sequence of steps to achieve this requirement. 

A. Associate Resource R2 with Work Center WC1> Select Available 24 Hours check box> Resource Availability region>
Enter 4 in Day Shift Column> Enter 4 in Night Shift Column. 

B. Associate Resource R2 with Work Center WC1> Deselect the Available 24 Hours check box> Resource Availability
region> Enter 2 in Day Shift Column> Enter 2 in Night Shift Column 
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C. Associate Resource R2 with Work Center WC1> Select the Available 24 Hours check box> Resource Availability
region> Enter 2 in Day Shift Column > Enter 2 in Night Shift Column. 

D. Associate Resource R2 with Work Center WC1> Deselect the Available 24 Hours check box> Resource Availability
region> Enter 4 in Day Shift Column> Enter 4 in Night Shift Column. 

Correct Answer: C 

 

QUESTION 7

The Plant Manager informs you that they have bought several machines for their manufacturing plant ABC. The plant
has been set up with a separate cost element set ABC in Manufacturing Cloud. You are requested to configure these
machines in such a way that those are costed to the work order for which operations are performed on these machines.
Identify the correct setup that you will advise to the Plant Manager. 

A. Set up the machines as cost element type of "Resource" by selecting Cost Element set ABC. 

B. Set up the machines as cost element type of "Overhead" by selecting Cost Element set ABC. 

C. Set up the machines as cost element type of "Overhead" by selecting Cost Element set Common. 

D. Set up the machines as cost element type of "Resource" by selecting Cost Element set Common. 

Correct Answer: D 

 

 

QUESTION 8

Identify the two configurations in Supply Chain cloud applications of Product Information Management (PIM) and Order
promising (GOP), which must be set to process the Back-to-Back order with Make Supply Order, for a nonstocked item. 

A. Set the nonstocked item to be back-to-back enabled in Product Information Management (PIM). 

B. Set the global sourcing rule in GOP to determine supply creation option as Make. 

C. Set a local sourcing rule in GOP to determine supply creation option as Make. 

D. Create Supply Order Orchestration Defaulting and Enrichment Rule for the nonstocked item. 

E. Create Supply Chain Orchestration Supply Execution Document Creation Rule for the nonstocked item. 

Correct Answer: AB 

 

 

QUESTION 9

Which two steps should you use to create a new Oracle Transactional Business Intelligence report in the Manufacturing
Cloud? 
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A. Use ibots to create the report. 

B. Use Business Intelligence answers to create the report. 

C. Use the Manufacturing subject area to select the report columns and create the report. 

D. Use Business Intelligence publisher to create a template and use that template to create the report. 

Correct Answer: BD 

You can use Oracle Transactional Business Intelligence to create analysis and Oracle Business Intelligence Publisher
to create reports. 

 

QUESTION 10

Planning Central has collected manufacturing data for a Work Order WO-2045 (Make Item AS1000), where actual
duration of work order is 2 days. Item AS1000 manufacturing lead time is 1.25 days. A plan is run and the Work Order
WO-2045 is rescheduled. Identify the duration of the rescheduled Work Order WO- 2045. 

A. Rescheduled Work Order WO-2045 duration = 2 days 

B. Rescheduled Work Order WO-2045 duration = 1.25 days 

C. Rescheduled Work Order WO-2045 duration = 3.25days 

D. Rescheduled Work Order WO-2045 duration = 0.75 days 

Correct Answer: D 

 

QUESTION 11

A user wants to transfer the work order status updates and resource transaction data for costed resources 

to Cost Management. 

Which scheduled process should you run to achieve this requirement? 

A. Transfer Cost to Cost Management 

B. Transfer Transactions to Costing 

C. Transfer Ledger Balances 

D. Transfer General Ledger Balances to Balance Cubes 

Correct Answer: A 

 

QUESTION 12

A production operator needs to review the materials issued, resources charged, and operations performed for a job that
was executed in the previous shift. Identify the task the operator has to select to review all the transactions in a single
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place for both Work Order and Orderless execution. 

A. Manage Work Orders 

B. Review Dispatch List 

C. Report Resource, Material and Operation Transactions 

D. Review Production Transaction History 

Correct Answer: A 

 

 

QUESTION 13

An employee is responsible for dealing with different manufacturing practices and processes, machines, tools and
equipment that turn raw material into a product. Which seeded job role must this employee be provided with? 

A. Manufacturing Engineer 

B. Production Engineer 

C. Production Operator 

D. Manufacturing Supervisor 

E. Production Supervisor 

Correct Answer: A 

 

QUESTION 14

Identify three requirements fulfilled by nonstandard work orders. 

A. Rescheduling 

B. Repair 

C. Rework 

D. Prototype 

Correct Answer: BCD 

 

QUESTION 15

In a manufacturing plant, two purchase components P1 and P2 and a resource R1 are required to assemble a product.
The cost of the assembly is calculated by using the standard costing method. The work definition and resource rates of
the assembly have been defined as required. A cost accountant is estimating cost of the assembly, analyzing rolled-up
costs before finally publishing estimates as frozen standards to cost accounting by using a cost planning scenario. While
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reviewing rolled up costs, the extended costs of purchase components are not included in a rolled-up scenario. Identify
the reason. 

A. Purchase components P1 and P2 are not associated with Material cost plan of the cost planning scenario. 

B. Costs for purchase components P1 and P2 are not defined in cost accounting. 

C. Create Accounting was not initiated. 

D. Create Accounting Distributions was not initiated. 

Correct Answer: D 
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